Cross Purchase Agreement: Basis Implications
While both Shareholder A and Shareholder B are alive:

Shareholder A owns 1
share of stock valued at
$500,000 with a 0 basis.

Shareholder B owns 1
share of stock valued at
$500,000 with a 0 basis.
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Shareholder A Shareholder B
Pays Pays
Premium Premium
Life Insurance Life Insurance
Policy on B’s Policy on A’s
Life owned Life owned
by A by B

When Shareholder A dies:

Life Insurance
Policy on
A’s Life

Death proceeds
payable to
Shareholder B
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Shareholder B

A’s Estate —caSh from insurance purchases the

(A’s stock is stock from A’s
now owned by Stock estate.

his estate.) —

ABC stock gets a step-up in basis.

In the hands of the estate, ABC i N
stock has a fair market value of After A dies, B owns 100% of ABC
$500,000 and a basis of $500,000. Corporation. The fair market value of ABC

Corporation is $1.0 million. B’s basis in
the stock she purchased from A’s estate is
$500,000 (her cost of acquisition).
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